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1 i 205 16.2 0.0 7.3

2 2 22.9 16.5 0.1 7.3 49.8 51.5 129 5.5 <0.03  <0.02

3 5] 18.8 16.2 0.3 7.3

4 2 215 16.4 0.1 7.3

5 i 25.4 16.3 0.1 7.3

6 i 25.1 16.7 0.1 7.4

7 i 24.1 16.6 0.0 7.3

8 2 22.8 16.6 0.0 7.3

9 = 21.1 16.1 0.2 7.4

10 i 20.4 16.5 0.2 7.3

1 5] 24.7 15.8 0.1 7.4

12 2 24.4 15.7 0.1 7.4

13 = 25.1 15.7 0.1 7.4

14 2 24.3 16.1 0.1 7.4

15 = 246 16.8 2.4 7.4

16 2 215 16.0 0.2 7.4 485 52.0 133 5.5 <0.03  <0.02

17 i 29.2 16.0 0.1 7.3

18 i 29.8 16.0 0.1 7.4

19 i 30.0 16.1 0.1 7.3

20 2 28.1 16.0 0.1 7.4

21 i 28.6 15.7 0.0 7.3

22 i 28.1 16.4 0.1 7.4

23 = 28.4 16.0 0.2 7.4

24 5] 25.9 15.8 0.1 7.3

25 5] 26.1 15.9 0.4 7.4

26 i 28.9 16.0 0.2 7.4

27 i 271.3 15.9 0.2 7.4

28 i 30.0 15.7 0.2 7.4

29 5 295 15.7 0.2 7.4

30 i 28.9 16.1 0.2 7.4

Y 25.7 16.1 0.2 7.3 49.2 51.8 131 55/  <0.03  <0.02
X = 30.0 16.8 2.4 7.4 498 52.0 133 55/ <0.03  <0.02
= & 18.8 15.7 0.0 73 485 515 129 55 <0.03 <0.02




